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PERFORMING ARTS - DANCE / DRAMA / THEATRE
Paper — 11l

SPECIAL INSTRUCTIONS [Use Only For |

Candidates are required to answer all the 25 questions in Part-1, which are Arts
compulsory. They should also select any one from Part-II and Part-I1I and
answer all the 25 questions of that Part only. Each question carries two | PART-I

marks.

Candidates are required to mark clearly on the OMR Answer Sheet, the Part one

Number which they have selected.

PART - |

Performing

PAPERII
Compulsory

Optional
Choose any|

(ZPART-TI
(GDPART - 11T

Common to Dance / Drama / Theatre

Assertion (A) : The Kutiyattam
performance departs radically
from the text of a play.

Reason (R) : Kutiyattam structure
lays stress on the introduction
of characters and elaboration of
the story not found in the act of
the written play.

Codes :

(A) (A)is false, (R) is true.
(B) (A)is true, (R) is true.
(C) (A)is false, (R) is false.
(D) (A)is true, (R) is false.

Match the items in List-I with the
items in List-1I :

List—1 List-11

(a) Raslila (1) The Ritual
Tradition

(b) Teyyam (i) The Folk Popular
Tradition

(c) Tamasha (i11) The Classical
Tradition

(d) Kautiyattam (iv) The Devotional
Tradition

Codes :

(@ () () (@
(A) () @) (@i (Gv)
B @Gv) ) @) (i)
© @G (i) @) ()
(D) (i) (v) (1) (i)

Paper-I1

Give the correct sequence in respect

of their Geographical Origin from

South to North :

(A) Bhand Jashna, Nautanki,
Veethi Natakam, Krshnattam.

(B) Veethi Natakam, Krshnattam,
Bhand Jashna, Nautanki.

(C) Krshnattam, Veethi Natakam,
Nautanki, Bhand Jashna.

(D) Nautanki, Bhand Jashna,
Krshnattam, Veethi Natakam.

Pick the odd one out :
(A) Bhavai (B) Nautanki
(C) Teyyam (D) Tamasha

Manch is a folk popular tradition
which is prevalent in

(A) Uttar Pradesh

(B) Punjab

(C) Rajasthan

(D) Madhya Pradesh

Assertion (A) : The concepts of
natya, nftya and nftta seem to
have one thing in common,
namely  gatravikshepa  or
movement of limbs.

Reason (R) : All these forms lack
the Satvik Abhinaya.

Codes :

(A) (A)is true, (R) is true.

(B) (A)is false, (R) is true.

(C) (A)is false, (R) is false.

(D) (A)is true, (R) is false.
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SPECIAL INSTRUCTIONS

Candidates are required to answer all the 25 questions in Part-1, which are Arts
compulsory. They should also select any one from Part-1I and Part-III and
answer all the 25 questions of that Part only. Each question carries two

marks.

Candidates are required to mark clearly on the OMR Answer Sheet, the Part one

Number which they have selected.

PART - |

Use Only Forl

Performing|

PAPER 11
Compulsory
PART -1

Optional
Choose any]|

(Z)PART-TI
(3)PART -1

Common to Dance / Drama / Theatre

AMHIT (A) . FlSAEH T TE F
O I Gord: STeTT &l STt & |
#HROT (R) . FleAEH GO uE w
TREE SR HA F fagiaer W)
SR I & S fefad e & o o
R IR |

FT

(A) (A)3EmI T (R)TAT |

(B) (A)TFE, (R)FAF |

(C) (A)3EEE (R) AT |

(D) (A)T=E, (R) ITAT |

Tefi-1 § <t 7€ /T R G-I F S T e
% T Gl HIT ;
= - | =t - 1

(a) TrEeden (i) e
Qg

(b) = (ii) i foreama
T

(c) THwm (iii) TR
(ST TR

(d) Pz (iv) wifeRT TR

S

& -

(@ () () (@
(A) () @) () (v)
B Gv) ) @) (i)
(©) () (i) @v) (@)
(D) (i) @Gv) @ (i)

J-65-13

3.

AT F IW TH G ST o Ty

o TEl 3T JaTed

(A) ¥ig S99, Hicwl, drelt Aeed,
HUMEH

(B) @it ACHH, FOMH, 9ig S,
et

(C) FomgH, ol TEedH, diewl, O
i)

(D) FCH, 9ig R4, FOUGH, o
qeHA

[a¥a

T & T99 HIT
(A) @
(C) =™

(B) et
(D) TR

T FARACT WERT ¢ ST e &

T ©

(A) TR U (B) ST
(C) TSI (D) HET TR
Ao (A) @ TR, JF IR JA w0

YRS H U o1 HAe fg@rg
TSt €, AT T faeT areren 3
Akl

R (R) D T g T H Giic®
MG T IIE T |

B

(A) (A)TTE, R)TAT |

(B) (A) 3T E(R)TAT |

(C) (A) AT (R) ITAE |

(D) (A)TFE, (R) AT |

Paper-I1



10.

Match items in List-I with the items in
List-11 :

List -1
(a) Kakshya

List— 11

(1) Voice
Modulation
in delivery of
speeches.

(i1) Graceful
mode of
dramatic
presentation

(ii1) Zonal
division of
stage

(d) Karyavastha (iv) Stages of

Plot

Development

(b) Kaku

(c) Kaishiki

Codes :
(@ (b (© (@

(A) (@) (@(v) () (i)

B) i) (@) @) (@v)

(©) @) (@i @ (1v)

(D) @Gv) (i) (i) ()

Which is the correct sequence ?

(A) Bhasa, Kalidasa, Ashwaghosha,
Bhavbhuti, Shudraka.

(B) Kalidasa, Bhavbhuti,
Shudraka, Ashwaghosha.

(C) Ashwaghosh, Bhasa, Kalidasa,
Shudraka, Bhavbhuti.

(D) Shudraka, Bhasa, Ashwaghosha,
Bhavbhuti, Kalidasa.

Bhasa,

Pick the odd one out :
(A) Mattavarni

(B) Brahmamandala
(C) Ragapitha

(D) Pataka

The word ‘Pusta’ is described in the
context of

(A) Angika Abhinaya

(B) Vachika Abhinaya

(C) Aharya Abhinaya

(D) Sattvika Abhinaya

Paper-I1

11.

12.

13.

14.

15.

Assertion (A) : Experiment Kkills the
tradition.

Reason (R) Art depicts the
contemporary requirement and
interest of the society.

Codes :

(A) (A)istrue and (R) is false.
(B) Both (A) and (R) are true.
(C) (A)is false, (R) is true.
(D) Both (A) and (R) are false.

Arrange the correct sequence :

(A) Mishra, Khand, Tisra, Sankirn
(B) Tisra, Khand, Mishra,Sankirn
(C) Khand, Tisra, Mishra, Sankirn
(D) Khand, Mishra, Tisra, Sankirn

Pick the Odd one out :
(A) Shruti (B) Nartanam
(C) Chhayanat (D) Kadambini

Match items in List-I with items in
LIst-II.

List—1
(a) Nupi Lan
(b) Shravan

List— 11
(1) Priti Patel
(i1) Sachin

Shankar
(c) Malem (ii1) Charu Sija
(d) Ghost (iv) Kumudini

Lakhia
Codes :

@ (b)) () ()
(A) () (i) @Gv) (i)
B) i) Gv) @ (i)
© @) @i @ Gv)
(D) @Gv) @) (@ (i)

Pick the Odd one out :
(A) Hallisak (B) Chhalikya
(C) Lasya (D) Rechaka
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16.

17.

18.

19.

20.

Which university does not have
department of Dance ?

(A) Maharaja Seyajirao University
(B) Indira Kala Sangeet University
(C) Ravindra Bharati University

(D) Amity University

Select the choreography which Uday
Shankar did for Anna Pavlova :

(A) Labour and Machine

(B) Radha Krishna

(C) Panchtantra

(D) Indra

Assertion (A) : The traditional system
of Guru Shishya parampara of
teaching requires a very long
period apprenticeship.

Reason (R) All institution have
considered introducing
specialised training in the many
professional areas.

Codes :

(A) (A)is false and (R) is true.

(B) (A)is true and (R) is false.

(C) Both (A) and (R) are true.

(D) Both(A) and (R) are false.

In which play a competition is held to
prove the ability of dance teacher ?

(A) Abhigyan shakuntalam

(B) Karpoormanjiri

(C) Malvikagnimitram

(D) Ramcharitam

Match items in List-I with items in List-II

List—1 List— 11

(a) Banaras (i) Name of Dance

(b) Uppu (i1)) Name of
Gharana

(c) Pandanalloor (iii) Name of
Instrument

(d) Gidda (iv) Name of Bani

Codes :

@ (b) (¢ (d
(A) (i) () (@) (Gv)
(B) @) (i) @(v) ()
© O (i) () (Gv)
(D) (v) (@) (i) ()

Paper-I1

21.

22.

23.

24,

25.

Pick the Odd one out :

(A) Bala Saraswati

(B) Yamini Krishnamurthy
(C) Johra Sahgal

(D) Sanyukta Panigrahi

Arrange the correct sequence :

(A) Learning, Perfection, Practice,
Perform.

(B) Practice, Learning, Perfection,
Perform.

(C) Perfection, Perform, Practice,
Learning.

(D) Learning, Practice, Perfection,
Perform.

Assertion (A) Yoga is in the

complete oneness of soul and
body.

Reason (R) : This oneness can be
attain through dance.

Codes :

(A) (A)istrue and (R) is false.

(B) (R)istrue and (A) is false.

(C) Both (A) and (R) are true.

(D) Both (A) and (R) are false.

Match items in List-I with List-II :

List—1 List— 11
(a) Assam (1) Jhanjh
(b) Bihar (i) Pung
(¢) Gujarat (ii1) Dhol
(d) Manipur (iv) Kohili

Codes :

@ ® © (@
A @ (@) (@) (@)
(B) (i) @) (@v) (1)
© Gv) @) @ (@)
D) @y @Gv) (@) (i)

‘Baithaki bhava’ is a speciality of
(A) Kathakali

(B) Saraikela

(C) Kathak

(D) Sattariya

J-65-13
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PART - 11
DANCE

26, Pindi bandhas are 29. Masked play of Thailand is

A) W
(A) Circular formations (A) ayang
_ ‘ (B) Khon
(B) Linear formations (C) Anyein Pwe
(C) Choreographic patterns (D) Penchak

(D) Duet dancing
30. Choose the odd one :

27.  Assertion (A) : Tradition should be the (A) Kamsanaatakam
axis of all innovation. (B)  Chavittunatakam

(C) Kaikottikali

Reason (R) : Classical dance can be B
(D) Kuravanji

convincing when it rests on the

firm foundation of only tradition.
31. Which is not an ornament of the ankle ?

Codes : (A) Nupura (B) Angada
(A) (A)istrue, (R) is false. (C) Kinkini (D) Kataka
(B) (A)is false, (R) is true.

(C) (A)is false, (R) is false. 32. Identify the correct sequence :

(D) (A)is true, (R) is true. (A) Kudiyattam, Krishnattam,

Ramanattam, Kathakali.

(B) Krishnattam, Kudiyattam,

28. Match items in List-I with List-II. Ramanattam, Kathakali,

List=| List=1I (C) Kudiyattam, Ramanattam,
(a) Chaunfla (i) Bihar Krishnattam, Kathakali.
(b) Jhumar (i) Madhya Pradesh (D) Ramanattam, Kudiyattam,
(c) Jadur (iii) Garhwal Krishnattam, Kathakali.
(d) Saila (iv) Punjab 33.  Which pair is not correctly matched ?
Codes : (A) Urnanabha — Hasta

(a (b)) (© @ (B) Vartita — Karana

(A) Gi) () (i) (iv) (C) Mandala — Mukhaja

L L Bhinaya
(B) (i) Gv) @ () (D) Agratalasancara — Pada

© @Gv) (1) (i) (1) Bheda
D) @ (@) () (iv)
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34.

35.

36.

37.

Assertion (A) : Today’s dancers lack
problems in pursuit of their art.

Reason (R) : The problems result from
changes in  patrons and
audiences.

Codes :

(A) (A)istrue, (R) is true.

(B) (A)is false, (R) is true.

(C) (A)is true, (R) is false.

(D) (A)is false, (R) is false.

Match items in List-I with List-I1 :

List—1 List— 11

(a) Lasyanga (i) Unitof
movement

(b) Karana (i1) Vaksha
movement

(c) Abhugna
(d) Aavritta
Codes :

@@ () () (@
A) @(v) @) @) (i)
B) @) (@v) (@G (i)
©) i) @@ (@Gv) (i)
(D) i) (@@ (aG) ()

(ii1) Dance and music
(iv) Wrist movement

Pick the odd one out :
(A) Abhilasha

(B) Anusmruti

(C) Lila

(D) Unmada

Identify the correct sequence :

(A) Bhaya, Adbhuta, Hasya,
Bibhatsa.

(B) Bibhatsa, Hasya, Adbhuta,
Bhaya.

(C) Hasya, Adbhuta, Bibhatsa,
Bhaya.

(D) Hasya, Bhaya, Bibhatsa,
Adbhuta.

38.

39.

40.

41.

The Chitrasabha of Nataraja is in
(A) Tiruvalangadu

(B) Kuttralam

(C) Chidambaram

(D) Madurai

Choose the odd one :
(A) Vicchitti

(B) Bibboka

(C) Kanta

(D) Vilasa

Which pair is not properly matched ?
(A) Manipuri — Sankeertan

(B) Kummatikali — Mask

(C) Vilasini — Swapnasundari
Natyam
(D) Kathak — Chaali

Assertion (A) : Raslila of Manipur has

some common aspects with

Raslila of Braj.

Reason (R) : Both are understood as
acts of devotion and not mere

entertainment.
Codes :
(A) (A)istrue, (R) is true.
(B) (A)is true, (R) is false.
(C) (A)is false, (R) is false.
(D) (A)is false, (R) is true.



34.

35.

36.

37.

AHHAT (A) : ASTHA H ATH
AT N % UY H FEHEel &

HIHAT h{Hl l‘I\,‘.%('H%'I

FHROT(R)  : I8 THEW el 3R
TYH T A ¥ Iea~ Bl € |

E!g_d':

(A) (A)TIE, R)TAT |

(B) (A)Ted g (R)TAE |

(C) (A)TFTE(R) T E |

(D) (A) T & (R) ToAd & |

-1 1 Te-11 & FreT GAferd HifeTe -
=t - | = - 1

(a) ST (i) T <l HE

(b) =T (i) =&t T

(c) Mg (iif) T SR Fe

(d) ™ (iv) Fefs i i

BT

@ () (© (@
(A) (v) @) @ ()
®) @ G@Gv) () (i)
© i) @) (@v) (i)
D) i) @ () (v)

oo 1 9T
(A) T
(B) eFIegf
(C) e
(D) ==

Hﬁﬁv‘qaﬁﬁ :

(A) g, 3, &, favew
(B) o, /9, 3yq, W
(C) 7=, 3Ry, fave, v
(D) &, v, faved, STgyd

38.

39.

40.

41.

o oo

AN a’ﬁ' ICEREIREIS G ﬁ' % :

(A) dIRaTeTg
(B) e
(C) FoEmeRy

(D) =3

e =Bt g -
(A) forieit
(B) forssiieh
(C) =T
(D) o

frafafed & & =9 @ W & a1 9
guferd & € 2
(A) TfoTgRt — e
(B) PR - @
(C) Tt — TR
e

~

(D) FuH — el

AWHYT (A) © AR HF THEAA H 5T
i AT % F TS Tee] & ¢ |

HROT(R)  : I H Wi A
HHST ST € A 9 TR Tél
T ST & |

(A) (A)TIETR)TAT |
(B) (A)TFE(R) T T |
(C) (A)7ed & (R) Tord € |
(D) (A) T & (R)TAT |



42.

43.

44,

45.

46.

Sarfoji Maharaja wrote

(A) Sangeeta Parijat

(B) Tristhali Yatrechi Lavani
(C) Prahlada Charitram

(D) Sita Svayamvara

Pick the odd one out :
(A) Chakkar (B) Bhramari
(C) Utplavana (D) Shuttral

Pick the correct from

Abhinayadarpana :
(A) Mandala, Sthanaka, Utplavana,
Chari, Bhramari.

sequence

(B) Sthanaka, Chari, Utplavana,
Mandala, Bhramari.
(C) Chari, Mandala, Bhramari,

Utplavana, Sthanaka.

(D) Mandala, Sthanaka, Utplavana,
Bhramari, Chari.

Saing is the musical orchestra for
dances of

(A) Thailand
(C) Cambodia

(B) Burma
(D) Indonesia

Match items in List-I with List-II.

List—1 List— 11
(a) Hastamuktavali (i) Tamil
(b) Kalitogai
(c) Powada
(d) Kalyana-

saugandhi kam
Codes :

(@ () () (@
A) Gv) (@) (@) (i)
®) () Gv) (i) (i)
(©) @G aGi) Gv) (1)
D) Gi) () Gv) (i)

(i1)) Malayalam
(ii1) Assamese
(iv) Marathi

47.

48.

49.

50.

Penchak is a dance form from

(A) Balli

(B) Cambodia
(C) Laos

(D) Kerala

Which does not have sanchari

elaborations ?
(A) Oddissi
(B) Jatisvaram
(C) Ashtapadi
(D) Thumri

Assertion (A) Kaishiki Vritti is

beautiful costumes worn by
women.

Reason (R) Only women can
perform Kaishiki Vritti.

Codes :

(A) (A)istrue, (R) is false.
(B) (A)is true, (R) is true.
(C) (A)is false, (R) is false.
(D) (A)is false, (R) is true.

Which pair is not properly matched ?

(A) Kumudini — Dhabkar
Lakhia

(B) Kanak Rele = — Kalyani

(C) Asha — Asana
Coorlawala

(D) Chandralekha — Chakravyuha



42.

43.

44,

45.

46.

TS HewreT o forar &
(A) i aReTa
(B) et anEt aavht
(C) wBeTR =
(D) WamERER

foem 1 g
(A) TFH
(B) vl
(C) 3c=ted
(D) A

MIIIOT § F TEl ST a1y

(A) e, T, Iceta, TR, S
(B) T, AN, Sowtar, Hed, W
(C) =/, W, Wi, Sowrad, TIHE
(D) e, R, Jeeter, S, =

gﬁ%qﬁaﬁﬁ?%ﬁﬁﬂwﬁﬁwqu
X
(A) TRivS
(B) =i
(C) Hrateen
(D) TemdreT
-1 7 2 8 TS bt g1l e
gaferd X
it - | Tt — 11
(a) ECHEERA (i) A
(b) Hferarms (i) weRme
(c) &= (iii) 3T

(d) FEAUENTEEA (iv) AR
T
(@ () () (@
(A) (v) (1) (i) (i)
B) (@) (@v) (i) (iii)
© @) (i) @v) (@)
(D) (i) (@) (@v) (i)

47.

48.

49.

50.

e el B A T2
(A) @t

(B) ST

(C) omeTd

(D) el

Fefafea 4 9 foad T foewor &t
&9

(A) TS
(B) STeeR"
(C) =l
(D) =

AfWpe (A) @ FHrE g et gw
TE ST Bttt YL qrreh ¢ |

RO (R) : %ae fedt @ i
gid T FEE T Fhell € |

B
(A) (A)T=E, (R)fene |
(B) (A)FFE (R)FIE |
(C) (A) Tz e (R) e |

(D) (A)feEng R)T=@ e |

I AT el Tel FAT T & 2
(A) FHRA oM@ — 99&R
(B) &6 & _ ooty
©) WW@T — 3
(D) =isetEn _ <Thee



26.

27.

28.

29.

PART - 111
DRAMA/THEATRE

The plays of Jaishankar Prasad was
presented for the first time by

(A) E. Alkazi

(B) Shambhu Mitra

(C) Habib Tanveer

(D) B.V.Karanth

Match List-I with List-II :

List—1 List— 11
(a) Selectivity (i) Principle of
Design
(b) Lines (i1)) Two
dimension
(c) Emphasis  (iii) Objectives of
Art
(d) Shape (iv) Elements of
Design
Codes :
(@ (b)) (¢ ()
(A) (i) (v) (1) (i)
B) @Gv) (1) @) (1)
©) @@ (v) (i) (i)
D) (i) (v) () (i)

Presentation of a play follows the
order, as below :

(A) Costume, Set, Light, Makeup,
Show.

(B) Set, Costume, Makeup, Light,
Show.

(C) Costume, Light, Makeup, Show,
Set.

(D) Light, Costume, Makeup, Set,
Show.

Assertion (A) : Theatre is always
contemporary.

Reason (R) : Classical plays can also
be performed as contemporary.

Codes :

(A) (A)is True, (R) is True.

(B) (A)is False, (R) is True.

(C) (A)is True, (R) is False.

(D) (A)is False, (R) is False.

Paper-I1
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30.

31.

32.

33.

Pick the odd one :

(A) Habib Tanveer — Political Theatre

(B) Badal Sircar — Psycophysical
Theatre

(C) Safdar Hashmi — Realistic Theatre

(D) B.V.Karanth — Theatre Music

The famous Light Designer who
designed the light and sound
programme of Sabaramati Ashram and
Purna Quila in Delhi

(A) V.Ramamurthi

(B) Tapas Sen

(C) Prof. G.N. Dasgupta

(D) Kanishka Sen

Match the items in List-1 with the items
in List-1I.

List—1 List— 11

(a) Badal Sircar (i) Painted curtains

(b) Ram Nagar (ii) Thrust stage
Ki Ram lila

(¢) Surabhi (ii1) Arena theatre
Theatre

(d) Jatra of (iv) Environmental
Bengal theatre
and Orissa

Codes :
() (b) () (d)

(&) (v) (i) () (i)

(B) (1) (i) (@v) (i)

©) Gi) () GiD) (v)
(D) (i) (v) (1) (i)
Give the correct sequence :

(A) Commedia dell’arte, Roman

Theatre, Elizabeathan Theatre,
Church Drama.

(B) Elizabeathan Theatre, Roman
Theatre, Commedia dell’arte,
Church Drama.

(C) Church Drama, Elizabeathan
Theatre, Roman Theatre,
Commedia dell’arte.

(D) Roman Theatre, Church Drama,

Commedia dell’arte,
Elizabeathan Theatre.

J-65-13
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34.

35.

36.

37.

Assertion (A) : Art cannot be taught, it
can be learned.

Reason (R) : All artistes are born as
talented artistes.

Codes :

(A) (A)is false, (R) is false.

(B) (A)is true, (R) is false.

(C) (A)is false, (R) is true.

(D) (A)is true, (R) is true.

The light which is used to remove
patches on the state is called

(A) Par Light

(B) Fresnel Spot Light

(C) Plano-Convex Spot Light

(D) Profile Spot Light

Match the items in Column-I with the
items in the Column-II.

List—1 List— 11
(a) Kimono (i) Elizabeathan
Theatre
(b) Chiton (i1) Indian
Theatre
(c) Robe (ii1) Noh Theatre
(d) Angavastra (iv) Greek
Theatre
Codes :
(@ () (© (@
(A) (v) i) @) (i)
B) (i) (v) @) (i)

(©) (i)
D) @

() (@v) (i)

(iv) (i) (i)

Give correct sequence according to
their appearance :

(A) Surrealism, Realism, Naturalism,
Expressionism.

(B) Realism, Naturalism,
Expressionism, Surrealism.

(C) Naturalism, Realism, Surrealism,
Expressionism.

(D) Expressionism, Surrealism,

Realism, Naturalism.

Paper-I1
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38.

39.

40.

41.

42.

Assertion (A) : Brecht has written

plays by following certain
Political Ideology.

Reason (R) : Brecht was a politician in
theatre.

Codes :

(A) (A)is false, (R) is false.
(B) (A)is true, (R) is false.
(C) (A)is false, (R) is true.
(D) (A)is true, (R) is true.

Pick the odd one out :
(A) Anju Mallige
(B) Tale Dand

(C) Kanyashulkam
(D) Yayati

‘Theatre of Independence’ is written by
(A) Vasudha Dalmia

(B) Anuradha Kapur

(C) Rustom Bharucha

(D) Aparna Dharwadkar

‘Kisi Ek Phool ka Nam Lo’ is a play
written by

(A) Chandrashekhar Kambar
(B) Baddal Sircar

(C) Satish Alekar

(D) Madhu Rye

Match the items in List-1 with the items
in List-11 :

List—1 List— 11
(a) Garcia Lorca (1) Italian
(b) Samuel Beckett (i1)) German
(c) Bertolt Brecht (ii1) Irish
(d) Luigi Pirandello  (iv) Spanish
Codes :

(@ () () (d
A) () @) @) (1)
B) (v) (i) i) (1)
(©) i) (@) Gav) (i)
D) @) G(v) () (i)

J-65-13



34.

35.

36.

37.
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AN,

)
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AfqgeeiaT

(C) UHplaamR, JuedrE, —IAfaaenders,
ANESEE

(D) TS, faendars,
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38.

30.

40.

41.

42.

afrpem (A) : d&T | fedl eI
TTaRERT 1 9o e e fofd
T
FROT(R) i fauex § Iowifas
o |
%
(A)
(B)
©)
(D)

(A) 3T E, (R) 3T T |
(A)TFE, (R) T ¥ |
(A) eI E, (R)TAT |
(A)TTE, (R)TT T |

o [N e

‘fouer 3% Sfeuew FEfafEd & grr
%IET‘TEIT%:

(A) TG greAEEr

(B) r3En

(C) T o

(D) 3TUUT YRATSHT

‘el U FeT T A1 o’ Th ALH & | TE
T fer@r € 2

(A) TG FHA

(B) 9 WHR

(C) T 3Tt

(D) "YTE

geAl-1 § & 7T /T RN G-I F & T TR
=t - | =it - 11
(a) WA AGH (1) et
(b) VA ke (i) STHA
(c) T s (iii) MR
(d) T RiEer  (iv) Sear
FHT:
(a)
A) (@)
(B)
©)
(D)

® (¢ (@
(i) (i) (iv)
(v) (i) i) ()
(i) (1) (@(v) (i)
(i) (@(v) (1) (i)
Paper-I1



43.

44,

45,

46.

Assertion (A) Drama is not 47. Match the items in List-I with the items
considered to be the pure form of in List-II.
literature. List —.I . List - I | ‘
Reason (R) : It is a composite Art. (a) I(g};?vs;;?m () Om Shivpuri
Codes : (b) Andha (ii) Mohan
) ) Yug Maharshi
(A) (A)istrue, (R)is false. (c) Evam (iii) E. Alkazi
. . Indrajeet
B) (A R . - .
(B) (A)istrue, (R) s true (d) Adhe (iv) Jabbar Patel
(C) (A)is false, (R) is false. Adhure
) ) Codes :
(D) (A)is false, (R) is true. (a) (b) (C) (d)
(A) (v) (i) (1) (@)
B) @) (G (i) (iv)
Give the correct sequence : © (.i_i.) (i) (iy) (i.i.i)
(A) Stage, Audience, Text, (D) () (v) @ ()
Performance, Catharsis. 48. Assertion (A) : Girish Karnad is a
. . modern playwright who has
(B) Catharsis, Audience, Text, Stage, written plays based Myth.
Performance. Reason (R) : All the plays of Girish
(C) Performance, Catharsis, Stage, Co deSK.arnard are mythological.
Audience, Text. (A) (A)is true, (R) is true.
(D) Text, Stage, Performance, Eg% Eﬁ; iz f?isee’ (%)iés filie'
Audience, Catharsis. (D) (A)is false, (R) is true.
49. Give the correct sequence of the
Pick the odd one out : performances of the plays by Habib
. Tanveer :
(A) Ashadh ka Ek Din (A) Agra Bazzar,' Charandas Chor,
(B) Surya ki Antim Kiran se Surya ki Ponga Pandit, Basantrutu ka
Antim Kiran Tak Sapna, Hirma Ki Amar Kahani.
(B) Charandas Chor, Agra Bazzar,
(C) Laheron ka Rajhans Hirma Ki = Amar  Kahani,
Basantrutu Ka Sapna, Ponga
(D) Adhe Adhure Pandit.
(C) Basantrutu ka Sapna, Hirma Ki
Amar Kahani, Ponga Pandit,
‘Nora’ is a famous character of Isben’s Charandas Chor, Agra Bazzar.
(D) Ponga Pandit, Agra Bazzar,
(A) An Enemy of the People. Charandas Chor, Hirma Ki Amar
(B) The Ghosts Kahani, Basantrutu ka Sapna.
(C) The Wild Duck 50. Pick the odd one out :
, (A) King Oedipus (B) Antigone
(D) A Doll’s House (C) Electra (D) Trojan Women
18 J-65-13
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43.

44,

45.

46.
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47.

48.

49.

50.

A1 H S T8 T_T RN G-I H I TS TR/
=t - |

T =it - 11
(a) HERM™
Hicaret

(i) i forg
(i) AveT el
(iii) . TR
(iv) S&R 9o

(b) stem g
(c) WoH TSI
(d) e gy
R

@ ()
(A) (v) (i)
(B) (1) (i) (i) (iv)

(C) (i) () (v) (i)

(D) (i) (v) (i) (i)

At (A) . TieT & sy
qACHHN ¢ S Hoaieh HAT &
YN T e 1@ ¢ |

HRT (R) : R & ot s

s € |

(c) (d)
(i) (1)

T
(A) (A)TFE R)TAT |

(B) (A) 3T, (R) AT |

(C) (A)TFE, (R) AT |

(D) (A) 3T, (R)TAT |

gdle Tl o ACH T UK B Fel
3R ST

(A) SR IR, TRURTE 4R, I ured,
TG T FN AT, ERAT FI IR
FEF, |

3T FEH, TG g HT AT, T
gfed |

TG T FN AUAT, ERET I IR
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T H SR FEE, qG A A
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(A) TR atifeug
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(B)

©)

(D)
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